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Assume the following:

Ve at the edge between OFF and active =0.7 V

Vge at the edge between active and saturation=0.8 V

Ve at the edge between active and saturation is=0.4V

Ve in comfortable saturation is=0.2

B of the transistor = 200

Re= 23K Rg= 2K Vee= 5V

P1 the input voltage at which the transfer characteristic starts to drop

P2 the input voltage at which the transfer characteristic ends dropping

The gate is cascaded (connected to other similar gate).

Drawn is the basiﬁ RTL gate.
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The logic function of this gate expressed in terms of its inputs is:
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Fill the table with ( no change, increase, decrease, shift-right, shift left) upon the given
introduced change: '
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